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[9.2].
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<� 	���������
���	�	�	
��������	�
���
���
���	
�	
��	

�����-
���/��������$���	�
�����=����
�����
�	
���
������
������������>�Hg199

(0.18%), Hg198 (10.01%), Hg199(16.93%), Hg200(16.93%), Hg201(13.19%),
Hg202(29.72%), Hg203 

57�+7?8� 5����	.
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��� �	
����� ���	�� ��������� 
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�����	��
	
�������	��
�/���
�	�
	���
����	��/�%��8�

@���
�����

���= 200.59 � 0.03 ��	���
����
�����A	����	������#����������&�;����=0.1 �1���V0 = 13.786 �
&�&&3�
�

3
B�����

(	�������
���	
�������&�;��s �
� = 64530 ��:&�" B�����5
���
� 	8

(	��	������� �	�	����� �#������ �� 
�	����������		� 
�
���
�	� �� =
4.154 ��&�&)�;�5�1(6�708
(	��	����������
��	
����-� %�������
������
�������	
�����-� = 79
� 2 ;

'�
���
�	����
��	
��� ����
��#��	�����%���>

� �	��	������������	
��������= 0.1 �1�� t�� = - 38.86 � 0.01 �	,
� �	�����������	
��������=0.1 �1���� = 11.442 � 0.01 �" B��$



� 
��������A	������������	
���5�= 0.1 �1�8��V
 - V�� =�V = (2.535 �
0.005) 10-6 

�
3
B��$

� ����	
�	�%�����������
��	
�������&��'��� ��� (0 �	) = 756.86 � 0.02
�1��

<������
������������	
���5�= 0.101325 �1�8�
(	��	����������	
���t
�� ( 1 ���8�C�347�4:&�� 0.003  �C
(	�������
���	
����r(1 ���8�C�2*:�*�� 0.3 �" B���

'���
���� ����
�������2&��'����C�&�)&)324����>

� ����
�
���� = 13545.88 ��&�&)���B�3,
� ���%%�/�	
���	����	
�������
.��	
���� = (1.81103 �0.0001) 10 -4

;
-1,

� ���%%�/�	
�� 
 ���	��
��� �T = -  V-1 (�V/�p)T = (4.013 � 0.01) 10-5

�1�
-1,

� 
����
�����������=1451.4 �)��B
$
� ������
����	���	���
���	� = 0.1396 � 0.0002 �" B5����;8$
� ������
����	���	���
���	v = 0.1219 � 0.0004 �" B5���;8$
� ��	��
�	���	����
��������	
�	���� = (0.95833 � 0.00003) 10-6�D���$
� �	���������
�
���
 = 8.45 ��&�&0���B5��;8$
� �����
����� = 1.559 � 0.005 �1��
�

;�����	
��	������	����,*�3->

� �	��	��������
� = 1751 � 10 K,
� ����	
�	���
� = 167.3 � 1 �1�$
� ����
�
����
� = ( 5.8 � 0.5) 103���B�3.
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�
3
$� ��	� ���������
���  ������� �	-

�������	��������	��������	
�.	
�������
�
���5�	�	�����	����#��������-
���
��#� ����	�����8�� D�
���	�	

�� 
	������	� �����	
���� ��
�	���	
-
����
���PVT#���

�������

������
����
���������a(p,T)�����������	
���
����
����	�	��	������������������
�
����I� 3� �B
�
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�������������������	
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���������
�����

���������
���
	��������	����������-
�������� ������������ 
���	� �	����	
��	� ����
	
�	� 
�
���
��� 5J'8� ����-

���� ����� � F(p,v,T, b)$� � ��	� b – �	����� �����	����$� ��
.����� �
�	����
����
�
�	�����
���
	
�=�
�,*�)-����		��	����)&�����
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��	��� �	��	�����
���� %�
�/����� #� �������
���� ���%%�/�	
����� Bp

(T), Cp (T), Dp (T):
32 )()()(1 pTDpTCpTB

RT

pV
ppp ����

�������
�	����%%�/�	
���������������	
�=����	
�
�����������
����-

��
����%%�/�	
�����B, C, D�������������
�
��$�����
�	�
�	�
����	
/��-
������	 ��
���
����������	�
������"����������
�������������������	-

��	����	
/���������
����������	�
�������������
����%�
�/���U(r, bu)
���

�� K	

����� L� " �

�� �m#7� 
� ��	��� �����	������ b1= d L� ����	��

����
��	
��$��b2  = ��L������
�����	
/����
�������$�b3 = m L��������	��
����������	��
��� �	����������
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	���/���P. Reipert�,*�4-$����������������������-
�����
��	
������������B(T*)$���	��	���C(T*)����	��	������D(T*) �������-

������%%�/�	
����������
���
����������	�	

����	��	�������T* = kT/�
�������	
/������K	

����#�" �

��
	������������m�C�)2$�
��������m =
*$)2$)0��N��������������������������������
�	����%%�/�	
������
�����
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C(T*)���D(T*) [9.5].
����(��������	�������	
/����� � �d, �, m� � �����
���	
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Götzlaff W. et.  al [9.3];
� ��

��� ;� 	�
������ ��Q�� �� 
��������� ,*�0-� ��� 
����
��� ������ �

���	�
�����������3&���7&��1�������	��	��������)2+7#)*&&�;R
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����������	
�=�
�
��	

���������������������
�	����	��	��	-
������ 2&&#� )3+&� G'� ,*�)$*�3-� ���=���� ������
�=� �	�	�
�=� �����

�1(6#�70�L�
������
�=����������	
������������� t = 356.540 �C
[9.1];
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����53S48$����=�����
��	
�	��	������
������/��������b4 = �sH0 ����&
;$��
��	
�	��
���������	�����%����������	������	
��� '

5 ��Sb � �����������-

�	����bc =  [b6 , b7 , b8] ������� 	
��������	���	���
���
'
sC .
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�� �	�������	� ������
���/��� ����
��� ��

��� ����� 
���	
�� � ��-
���	����b1– b8$������
�����������
� 	���������
�������	���$���	=��	

%����	
���� 
��
�$� 
���	
�
�� 
� �/	
����� ��� 
�	�
	���������	
���� ��-
��	.
�
�	��>

b1 = d= 2.798 � 0.03 �
b2 ���� = 818.4 �50 K
b3  = m = 8.4 � 0.6
b4  = �sH0 = 64530 � 42 " /����
b5  = 59.355 ��&�)2�" B5�����;8

���	��� �	���	���
��� '
sC  ���=����� ����� �����	����$� 
�� 
�� ��
-


�������	������

��	� ��

��� ������� ���� �����	����b6  - b8 � �������
�
�
���������<���	

�	������	����b1 - b5 ����	�	��������	.
�
�	�����	-
�	�	
��� 
����
�=�
�� 
� 
����	�
���=������/	
������� ,*�)$*�2-$� ���� 
��-
�	�	��
���	������
�������
����
������	�������/	���������	�	��
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���� ����� 5�����
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�
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���,*�2-�

"����/	
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��������
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���%%�/�	
��$� �� �	����� ������ 	
��$� �� 
�� �
����������� ����	�	
-

�	����
�������B���������������������������B����� �������
�	����%-
%�/�	
��$�������	���

����
���������	
/�����K	

����- " �

��)2#7�5
���������)2#78�,*�))-��(	�����
����	
��	�
���
����������
����
���
�
�-
�	
�������	�	
����(����/	�9.1a - ps (�1�8$�V	(10-5  

�
3 
��

-1), V		  
5�

3 
��

-1),
h	,  h		, r (�" ���-1), s	 ��s		 (�" ���-1 

;
-1) ���(����/	�*�1b -  '

sC , ''
pC , ''

VC  ( �" 

��
-1 
;

-1), ''a 5���
-1).
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D��
�
�	� ����������PROPERTY  �� 
�� ��
����	��� �� %���	� � �PROP-
ERTY_descr
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